Geometry A Name: \(ﬂ-J)

Review of 8.1 -8.3 Date: Period:

| can find angle measures in polygons.

I can use properties of parallelograms to find side lengths and angle measures.
| can use properties to identify parallelograms.

| can use coordinate geometry to identify parallelograms.
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O | can find angle measures in polygons.
v" | can find the sum of interior angles of a polygon using (n—2)-180

—2)-180
v" I can find the measure of each interior angle of a regular polygon using &
n
v" I can find the sum of the exterior angles of a polygon using 360
v" I can find the measure of each exterior angle of a polygon using —
n
1) What is the sum of the interior angle measures of a 15-gon?\=|$"
sum= (15-2)-1&0
2 13- 150 4 ‘7,3'*0" ,
2) Find the values of the variables in the figure below.
sum - (5-2) \50
<30
=540
= Xri4)=540 mex+mey =180 & Uncar Paw
X=‘H°, qd +y = \§0
Y=g1°
3) Find the value of x.
&g\,\ G gum = (4-2)160
Qi =210

= 30

X+2322360

i X‘ll%"'
4) Find the values of xand y.

Wy =180 sum = (4-2)\80
i SR
|y=66’ j =218V
- = 30

%+ 1200 +0S + (b = 360
X428 17 =300

‘x=\05°l
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5) Find the value of x. sum = (0-2)-1%0

= 4180
= 120

> Ga+420:120
(3x — 45)° ' 5% = 300
2x" ]xzwo }

exreriov angws Sum 10 300°

2A+ 259=300

X =102

7) Find the value of x.

S+ 15 bX+120=360

(x + 35)

(2x - 20)° wx =240

e

n=10
8) What is the measure of each interior and each exterior angle of a regular decagon?

tnterior = (10-2)-160 Exterior= 300
10 n
= §180 - 300

=0y 2 |
0

9) Find the number of sides of a convex polygon if the sum of the measures of its interior angles is
2880°.

cum= (n-2)180

28%0= (n-2):
:10] 15
bz N-2



10) Find the number of sides of a regular polygon with each interior angle equal to 171°.

1)+ (n2) 150 1in = 15on-360
! n
-qn = -300

g

11) You are designing patterns for your art project. Can you form regular polygons with the given
interior angle measures? If yes, how many sides would the regular polygon have?

a) 135° : (n-2).180 b) 130° = (n-2)-150
T N { N

(300 = (N-2)\%0
300 < 150N - 30
-50n = =360

560 = (n-2)1%0
Bhon - 15vn-300

HAin=-360 s e— NGOt POSSIDIE, cant nave a p\)'l\{ij'\i'ﬂ
F?l_:’ possibIL (g Wit 1.2 sides

O I can use propetrties of parallelograms to find side lengths and angle measures.

I can find lengths of opposite sides on parallelograms.

| can find measures of opposite angles in parallelograms.

I can find measures of consecutive angles in parallelograms.

I can find lengths of diagonals in parallelograms.

I can use properties of parallel lines to find angle measures in parallelograms.
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12) Consecutive angles in a parallelogram are always
A} Congruent angles.
B) Complementary angles.
@ Supplementary angles.
) Vertical angles.

13) Choose the statement that is NOT ALWAYS true. For any parallelogram
A) The diagonals bisect each other.

B) Opposite angles are congruent.
The diagonals are perpendicular.

D) Opposite sides are congruent.

14) Find the value of the variable in each parallelogram below. Justify your reasoning.

a) (8s + 5)° b) 14 3a: 114
onseciive W
{35 + 10)°

angies ave

Suppiémcnmry 95 +HEA5¢10=180 3a°  Opposite angies
1S 19 =180 ave congiuent
Wiz loy =2 ‘S:lS‘ l
C) 3x + 4 d)
A-2 =
3x -2 19 9x-2:1
4x — 1 IA=2]
Hx-1 = Bx+4 OpposIE Sudes Ae

_ are congruert
)

IR
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15) Find the values of the variables in the parallelogram.

210) —>> @ & opp angles are ¥

x=21°] € aiternate \nteror angles

——ee

\80-104-21 = 55 ° & friangle Sum
z-\04 N '—@
e

16) If ON=7x—-5, LM =6x+3, NM=x—-4,and OL=2y +5, find the values of x and y given that

LMNQ is a parallelogram.
P & Tx-5:=0XtD 2y+S =X -4
0 1X-9

N
@ 2y+5 = g-4
w& \H 29+6 =4
29= -\
L VAt) M
y= -2
L

17) Complete each statement for parallelogram ABCD. Then justify your answer.
A) AD=_ B __ +oppsues ave <

B) OC=x 67& &« duagonals oised eatn orney .

Q) CDIl__AB & opp swdes are paralic)

D) ZCBA= <ADU eoppanglcj are £

18) Find AM in the parallelogram if PN = 10 and MO = 19. - P

’ AM=9.9 /

19) Use the diagram below to find each of the following.

a) mZWwvU=11+29 = 46

b) wv=_24
Lo mAXUV =_\W°
d) uw=1o+16 =30

Ub + me XUV =180
meXUV = 124°



20) In the diagram below, please find AC and BD.

AC: (1-2) + 2(7) 9 B0: 2(2)+ 3(2) -2 2X=3X-2
Al=55 T4+ 62 -Ix =2
m——l SRTouT X=2
B0-8 2y-9+ y-2
y-9:-2
4T

O Ican use properties to identify parallelograms.

21) In each of the following, for what values of x and y must each figure be a parallelogram. Explain.

a) b)
= @ 3x+ 5

29+ 4y = 150 € (onsec angles 4}' Uxz3x+h

Yt - eC. ;
ave v+ 3 = X6

LY=150  guppiementar y 2y — 1 \,,__}

3% &4

t3=2y-|
(5% — 180)° a ‘57)%_,”
R 5X-160=180 & (onsec angles opp- Sudes ave = ~'

OX-180=180  ave \ ‘J{ﬂ
0 % =300 sopplementury
49 A 3x+3 B

xeo] o

p (2x + 4P c

= 1x 414 =1

i o 2x + 14 o )
Ar-u =\ 30432 ox A8 Eoppedes  y-3zaxey O m\és
=] 23X 1y-3: 18

chagonals visett edth othev \ %= [ 1y=21 :'7‘ 9:5’
22) Can you prove that the quadrilateral is a parallelogram based on the given information? Explain.

a) b)
Yes, voth diagonals
ave §piit exacny

M WO pieces

NO, nor engugh
\ for mation

11 Nes,

c) ~ d) e borh pawrs ok
i 136 Opposite Stdes are
136° 44° wngruent

1L
"

Nes, botrh pairs oF oppasite
angies are (ongruent



O | can use coordinate geometry to identify parallelograms in the coordinate
plane.

23) Given: Quadrilateral ABCD with A(-5, 0), B(4, -3), C(8, -1) and D(-1, 2). B
Prove: ABCD is a parallelogram using the slope formula. & botn paiws of opp sudes are paralie]
r

oGz 20 20 2y §
“1-- \+S Y U
N A e
Goplgr = M2 -2 o L / :
g- y % 2
Gope g, = 28 -__,3S . 2. - A
b--5 w+ 9 — —
> A% /I (o .

Slope = '2—:'-': Z,f—!: 2: -1

o™ 5" 5w a3

¥ Gine borh pa\M Ot oppositt Sides are parallel, AbCD S a paralielogram v
4) Given: guadrllateralABCD with A(-5, -5), B(-2, 4), C(6, 4) and D(3, -5)
Prove: ABCD is a parallelogram using the distance formula. & both pavrs ol cpposiit Cicdes dre congrvent
AB = J(2--5) % (4--5)* = {C249) s (rs)* = Jo)a(a)= Jac
0 | N G
(0= JG 05 (cs-ap = (G5 (-a) = Jarsy = Jao
IR « ,
cinee ok and AD are perfecrly hovizontay, we can unt
UNITS WNSTEAd 6% USiNg tne distanc formvia!
A )
-8 _—p —
N
4

NHERY

% Swn(e vOTh panrs ok cpposite Sides are GNGVUENT, ABLD 4 ¢ paralieiogram
25) Given: Quadrilateral ABCD with A(-2, 3), B(3, 2), C(2, -1) and D(-3, 0)

Prove: ABCD is a parallelogram using the midpoint formula. &~ Yoth magomus Nove e Siuve mtdp()lnf
S

Midgownt of diagonal A¢ = (2;_%, %,;;l> -(2,%)= (on)

o B =
Midpount o dwgonal B0 = (32, 0”') =(%/%) < (o) -

F 3
v

ASINCE TNe rdpownt O eadn dlagondl s (0,1) tnen ABLD
1§ 0 paraliclogram




